
qm=;= cGo sfo{qmd ljj/0f ah]6 
Joxf]g]{ 

>f]t
s}lkmot

1 k|ljlwd}qL ufpFkflnsf ;~rfng 1500000.00 uf=kf=

2 sfo{no tyf j8f sfof{no d]l;g/L cf}hf/ 1500000.00 uf=kf=

3 sfo{no tyf j8f sfof{no kmlg{r/ 1500000.00 uf=kf=

4 ;jf/L ;fwg -df]6/ ;fO{sn_ 500000.00 uf=kf=

5 cfjlws u'?of]hgf th'{df lgdf{0f 800000.00 uf=kf=

6 Village Profile 500000.00 uf=kf=

7 Nof08lkmN8 ;fO8 lgdf{0f 1500000.00 uf=kf=

8 ;dk'/s sf]if 1000000.00 uf=kf=

9 xf]d:6] k|a4{g sfo{qmd 1000000.00 uf=kf=

10 s[lif tyf kz' ks]6 If]q ljsf; sfo{qmd 3000000.00 uf=kf=

11 s[lif pTkfbg ;+sng s]Gb| :yfkgf 1000000.00 uf=kf=

12 ljBfno If]q k"jf{wf/ ljsf; 2000000.00 uf=kf=

13
j8f :t/Lo / ljBfno :t/Lo v]ns'b tyf 

cltl/Qm lqmofsnfk
1000000.00 uf=kf=

14 :jf:Yo lzla/ ;+rfng 500000.00 uf=kf=

15 ko{6sLo If]q j[Q lrq 500000.00 uf=kf=

16 /fi6«slj dfwj l3ld/] kfs{ j8f g+= ^ 500000.00 uf=kf=

17 8f=xs{ u'?ª ;dfwL :yn kfs{ j8f g+= & 500000.00 uf=kf=

18 ko{6g ljsf; sfo{qmd j8f g+= $ 500000.00 uf=kf=

19 /s uf8]{g Joj:yfkg j8f g+= % 500000.00 uf=kf=

20
tftf]kfgL s'08 Joj:yfkg j8f g+= ^ 500000.00 uf=kf=

21 xdvf]nf 5x/f kfs{ Joj:yfkg j8f g+= * 500000.00 uf=kf=

22
au}}rf–CTEVT lkslgs :yn lgdf{0f, j8f g+= 

(

500000.00 uf=kf=

23 af3]tf v]n d}bfg lgdf{0f 500000.00 uf=kf=

24 e'ne'n] v]n d}bfg lgdf{0f 500000.00 uf=kf=

25 a/fx|kf]v/L ;Ddf ;8d lj:tf/ sfo{qmd 1000000.00 uf=kf=

26 ljkb Joj:yfkg sf]if 500000.00 uf=kf=

27 czQm,c;xfo, lakGg ;xfotf sf]]if 500000.00 uf=kf=

28 k|fljlws tyf Jofj;flos tflnd 1400000.00 uf=kf=

29
sd{rf/L tyf hg k|ltlglwnfO{ Ifdtf clej[l4 

tfnLd
500000.00 uf=kf=

30
ckfË tyf a[4 cfocfh{g d'ns tflnd tyf 

;dfu|L ljt/0f
500000.00 uf=kf=

31
d:of{ª\bL uf=kf=dlxnf÷blnt nlIft l;kd'ns 

tflnd
500000.00 uf=kf=

32
dlxnf blnt cflbjf;L hghfltsf nflu nf]s;]jf 

cfof]u tof/L ;xof]u sfo{qmd
200000.00 uf=kf=

33 dlxnf :jo+;]ljsf oftfoft vr{ 400000.00 uf=kf=

34
;'wf/LPsf] r'nf] sfo{qmd 400000.00 uf=kf=

35
jftfj/0f d}qL / k"0f{ ;/;kmfO{ j8f÷6f]n 3f]if0f 

sfo{qmd
500000.00

36
jftfj/0f d}qL ;r]tgf tyf emf]nf ljt/0f 

sfo{qmd
500000.00 uf=kf=

37 3/ gS;f 5kfO{÷l8hOg 200000.00 uf=kf=

42 ag k}bfj/ ;+/If0f, k|j4{g, Joj;foLs/0f 300000.00 uf=kf=

43 PLss[t ;DktLs/ Joj:yfkg cled'lvs/0f 300000.00 uf=kf=

44 ;fj{hlgs ;'g'jfO{ / ;fdflhs kl/If0f 200000.00 uf=kf=

45
afn lajfx,n}lus lx+;f,hfltof e]befj tyf 

5'jf5't la?4 ;r]tgf sfo{qmd
300000.00 uf=kf=

46 ljleGg ljlgofjnL lgb]{lzsf lgod th'{df 300000.00 uf=kf=

47
ljleGg wfld{s ;f:s[lts ;flxlTos dxf]T;j 

lbj;
800000.00 uf=kf=

48 h]i7 gfu/Ls ;Ddfg sfo{qmd 200000.00 uf=kf=

49 6f]n ;'wf/ ;ldtL 200000.00 uf=kf=

51 hl8a'l6L k|j4g  sfo{qmd 300000.00 uf=kf=

52 ;Ddfg tyf k'/:sf/ 100000.00 uf=kf=

53 gfu/Ls j8fkq 100000.00 uf=kf=

32500000.00


